
versione 0
Equazioni differenziali - 0

DSolveB:y'@xD ã
2 x y@xD + 3 y@xD

2 LogB
y@xD

2
F

, y@-4D ã 2 ‰2>,

y@xD, xF

::y@xD Ø 2 ‰ x H3+xL >>

Funzioni di due variabili, punti critici - 0
g@x_, y_D := y2 LogAx2 + yE

f@x_, y_D := g@x, yD; Expand@f@x, yDD

y2 LogAx2 + yE

grad = Expand@8D@f@x, yD, xD, D@f@x, yD, yD<D

:
2 x y2

x2 + y
,

y2

x2 + y
+ 2 y LogAx2 + yE>

Solve[grad=={0,0},{x,y}]

Solve::dinv :

The expression Ix2 + yM
y

x2 involves unknowns in more than one argument, so inverse functions
cannot be used. à

Solve::dinv :

The expression Ix2 + yM
y

x2 involves unknowns in more than one argument, so inverse functions
cannot be used. à

SolveB:
2 x y2

x2 + y
,

y2

x2 + y
+ 2 y LogAx2 + yE> ã 80, 0<, 8x, y<F

H@x_, y_D =
¶∂x,xf@x, yD ¶∂x,yf@x, yD

¶∂y,xf@x, yD ¶∂y,yf@x, yD
;

Simplify@MatrixForm@H@x, yDDD

2 y2 I-x2+yM

Ix2+yM2
2 x y I2 x2+yM

Ix2+yM2
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SimplifyBMatrixFormBHB0, ‰
-1

2 FFF

2

‰
0

0 2

NB‰
-1

2 F

0.606531



Plot3D@f@x, yD, 8x, -.2, .2<, 8y, .3, .8<, PlotPoints Ø 20D

Plot3D@f@x, yD, 8x, .2, 2<, 8y, -.3, .3<, PlotPoints Ø 20D

x4 - 8 y - 2 x2 y + 2 y2

94 Ix3 - x yM, -2 I4 + x2 - 2 yM=

88y Ø 2, x Ø 0<, 8y Ø 4, x Ø -2<, 8y Ø 4, x Ø 2<<
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Integrale doppio - 0

f@x_, y_D :=
1

x
;

SimplifyB:‡
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f@x_, y_D :=
1

x
;

SimplifyB:‡
x-3

x

2
f@x, yD „y,

‡
3

6

‡
x-3

x

2
f@x, yD „y „x>F

:-
1

2
+
3

x
, -

3

2
+ Log@8D>

SimplifyB‡
2

6

‡
Abs@x-3D

x

2
f@x, yD „y „xF

LogB
64

27
F

Numero complesso - 0
In[1]:= SolveAz2 - 3 z + 3 + Â ã 0, zE

Out[1]= 88z Ø 1 + Â<, 8z Ø 2 - Â<<

Matrice, autovalori… - 0

In[6]:= a@k_D :=
2 0 0
1 4 - k k
1 0 -2

; v =
0
-1
2

;

Print@MatrixForm@a@kD.vDD;
Solve@a@kD.v ã r v, 8r, k<D

0
-4 + 3 k

-4

Out[8]= 88r Ø -2, k Ø 2<<

In[13]:= Print@MatrixForm@a@2DDD; Print@Eigenvalues@a@2DDD; Eigenvectors@a@2DD

2 0 0
1 2 2
1 0 -2

8-2, 2, 2<

Out[13]= 880, -1, 2<, 80, 1, 0<, 80, 0, 0<<

versione 1
Equazioni differenziali - 1

DSolveB:y'@xD ã
x y@xD - 4 y@xD

LogB
y@xD

3
F

, y@-1D ã 3 ‰3>,

y@xD, xF

Funzioni di due variabili, punti critici - 1
g@x_, y_D := y2 LogAx2 + yE
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f@x_, y_D := g@y, 2 xD ê 4; Expand@f@x, yDD

x2 LogA2 x + y2E

grad = Expand@8D@f@x, yD, xD, D@f@x, yD, yD<D

:
2 x2

2 x + y2
+ 2 x LogA2 x + y2E,

2 x2 y

2 x + y2
>

Solve[grad=={0,0},{x,y}]

Solve::dinv :

The expression Ix2 + yM
y

x2 involves unknowns in more than one argument, so inverse functions
cannot be used. à

Solve::dinv :

The expression Ix2 + yM
y

x2 involves unknowns in more than one argument, so inverse functions
cannot be used. à

SolveB:
2 x y2

x2 + y
,

y2

x2 + y
+ 2 y LogAx2 + yE> ã 80, 0<, 8x, y<F

H@x_, y_D =
¶∂x,xf@x, yD ¶∂x,yf@x, yD

¶∂y,xf@x, yD ¶∂y,yf@x, yD
;

Simplify@MatrixForm@H@x, yDDD
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Plot3D@f@x, yD, 8x, -.2, .2<, 8y, .3, .8<, PlotPoints Ø 20D
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Plot3D@f@x, yD, 8x, .2, 2<, 8y, -.3, .3<, PlotPoints Ø 20D

x4 - 8 y - 2 x2 y + 2 y2
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Integrale doppio - 1

f@x_, y_D :=
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;
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f@x_, y_D :=
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;
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In[14]:= SolveAz2 - 3 z + 1 + 3 Â ã 0, zE

Out[14]= 88z Ø Â<, 8z Ø 3 - Â<<

Matrice, autovalori… - 1

In[15]:= a@k_D :=
3 0 0
1 4 - k k
1 0 -3

; v =
0
1
-6

;

Print@MatrixForm@a@kD.vDD;
Solve@a@kD.v ã r v, 8r, k<D

0
4 - 7 k
18

Out[17]= 88r Ø -3, k Ø 1<<

In[18]:= Print@MatrixForm@a@1DDD; Print@Eigenvalues@a@1DDD; Eigenvectors@a@1DD

3 0 0
1 3 1
1 0 -3

8-3, 3, 3<

Out[18]= 880, -1, 6<, 80, 1, 0<, 80, 0, 0<<
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